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YA, Explain wh/ A contact difference o potential myst develop actoss an open- cireul fed PN junctio

(3 Discuss e wo possible svurces of breqkdown in a transisfor- as the collector-1s - emitter
volfqae is increqsed.,

(2) What s o Schottk Tansistor 7 why s Storage time eliminated in such a Trans'stor ?
7 7/ b

W Exﬂm‘n the function of a Irislate ( 3-shte) TTL &,"fe. (v¢7.)

and the ;‘m/u’ementrﬁ‘an rr The a(,;?_."} D

2. W) Show +he Yruth table for +he bqlf edder-,
and +he carry C.

@) Give Hhe Puth tables fvr each FLIP-FLOP ‘I//»e HA SR ;A T-K ;@D and UT .
(?) What do -the Acronymns FAMOS meagn ?
How is she cell emseof ?

KD Defme_ -f(s and 1+ - What /s the I’L‘/«"/Tﬂnsﬁiﬁ Eetween f{a avd fr 2

How is such a ce=// /xmjmmme;l?

(én

3, () Sketch +he eireuit of a /o;a/l%mic mnlb/,'f:‘er ur,'n; one OP AHP and ex/:/m‘n iy
olwmh‘m.

(2) Show Hhat the maximum conversisn effi
power anI.‘f;‘(r is 78.5%.

(3) Give the Barkhausen cond,
SuSTm‘no{ .

19 Show the mode] of an OP ANP taking inty account o1, Toz, Voo, Ri, Ro, and Av-,
What is the ouTPwT offset Vv/ﬁﬂe in Terms of parameters of s model ( £7)

'ca'ﬂwéy of the idenlized class B push=pulf

‘hons reguired in order for sinusasial oscillations 7 be

4 0> Sketch +he bleck d:‘eiran\ for The $-Stage twisted - ring counter.

(2) Wite +he frath table of FLIP- FLoP oulpdls B¢, Qs, B2, Q and Qu afte
Assume. +hat inifially Qu=Qy = Q:=Q,=Q, =0,
(3 Ey what number N does this s bem. Aivide |

) Show that two - input AND prtes can be used for a/ecoa/ma.

r 4 cA I:ulse.

(V&7
.$f In the circait af F,‘;. |, Ru=ty = /S ke, Bs=-2k42, and /4:;_94.
Find +he V"/r“f‘ F2ns A and A, ﬂ/ef/‘ned 63 Vor =AW, + A2V, - (€D

6. For the mn/:).‘ffer of F.;f..'z, hfe =100, hie = kv, Re = 3kav , C4=Ca = /OOMF,

Nfzke»l' and +he shuntin 4f(¢a‘t‘of RIR: is nef/.'f.‘b/e_ It rs Aesired that the
absolute valne of the mfc(banfi volfage gain Ao be more than 160, and thal™ the lower

3~d8 fnc;umca T be «f mosT 9oHe. Find +the range of valyes f,,. Rs which s«ffsfres
these two reguirements .
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